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Show all work for full credit, use correct notation., and clearly mark your answer.
Use ILT actuarial assumptions (The ILT is posted on the projector.)

A whole life insurance of 5000 payable at the end of the year of death is issued to (30).
1. List out the first three values (the three largest values) of the present value random

variable, Z, for this insurance, along with the associated probabilities for each value
of Z.

2. Determine the single net premium for this insurance.

3. Determine the variance of the present value random variable for this insurance.



4. Determine the probability that the present value random variable for this insurance
is greater than 4750.

5. Determine the probability that the present value random variable for this insurance
is less than 2500.



